2-Digit: S3
Addition Word Problems

1) A grocery store has 86 packs of almonds and 97 packs of walnuts. How many packs of
nuts are in stock?

2) 69 boys and 54 girls took part in a writing contest. How many children participated in
the contest altogether?
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5) Steve, a carpenter, made /0 chairs and 95 desks. HOow many items of furniture did he
make in all?

6)  Patricia decorated her yard with 18 Christmas yard signs and 43 inflatables. What was
the total number of Christmas decorations that Patricia used?
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